
28 DECEMBER HAS THIRTY-ONE DAYS.. [1856.
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Polo Star.

First Wi

Moo.N'.s 1'

Matiikmatrai. rKOi;i.K.MS.

lAk'xiiiulcr ofiaissiii dinl, isj,'). .Moon noar Mar.s.

!lluoiiHi)iiite crowned. 1M)4. .lm)itor SoUtll, 7.12Ev.
jst.l'.iurKCathi'ilriilfinislR'd. IVlti Vcnu.s ill Sagittarius.

I.'.) Klaxnian dud, 1S:C>. Voims South, 2.21 Ev.
Mo/.nrt du'd, 171)2. .Moon near Neptune.

v7) Sidney beheaded. 1(83. Moon near Jupiter.
iiiil Surulay in Admit. Mars ill Cajiricorn.

.M;iry Queen ofS.'ots born, VA'!. Mercury in Aplielion.

Milton l)orn, KXIS.

i'J) Guy dli'd, IT-'W.

iCh.irle.s .\II. kill.'d. ins.

IJi-unel died, 1S40.

Dr. .lolinson died. 17S4.

h-tl Sundivj in Advc.id.

ICarl Staiihopo died. 1S18.

il,)) St. Kustaehe destroyed, 1S;>7.Moon near UegUlUS,
I'irst L. C. Parliament, 17!i2. Saturn in Gemini.

.Moon in perigee.

0th. g Sup. i . Sun.
Neptune 00° K. Sun.
Moon higiie.st. ^ peri.

Moon near S iturn.

Venus South, 2.3G Ev.
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[.Jupiter South, 0.12Ev.!
Uranus in Taurus. !

•Venus Soutii, 2.41 Ev. -

Sua enters Sagittarius.

j21st. Moon in apogee.
Jupiter South, 5.54 Ev.
Jupiter in Pisces.

Venus South, 2.47 Ev.
Kiotstit lving.ston .Tamaiea, 18 H,Moon near Mercury.
\d .Sunday after Chridmas. IMars near Venus.
Lord StafTord beheaded. 1689. Ljupitcr South, 5.33 Ev.
Order of .)esuit.sestablislied,15o,j. Moon n'r Venus & Mars
St. Sylved>:r.

_ Satum ^ Sun.

Holivar died, 1830.

liychi) Brahe boru, 15S0.

liray died, 1710.

Wi Sioiday in Advent.

-^chiller died, l.S(15.

Abdication of .Tames IL 1088.

I'reaty of Ghent, 1814.
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Piioi!. 85.— If a round
ruler, whose length is 1

foot and" diameter 2 in-

ches be sawed in two,

lengthwise, the saw en-

tering i\ an ineh from the

centre of the end, and
going straight through,

what will he the surface

and solidity of each
port?

PuoB. 80.—If the ruler

of l'rol)lem 85 be cut by
a plane running through
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both ends, at ^ an inch

from the centre of one,

and } of an inch from

the centre of tiie other

end, on opposite sides of

the axis, what will be the

solidity and convex sur-

face of each part ?

pHon. 87.—The paral-

lel sides of a trapezoid

are 6 and 8 feet, ami its

height is 5 feet. If it

revolve about the per-

pendicular that bisects

the parallel sides, Avhat

will be the surface and
solidity of the solid thus

made ?
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ANSWERS TO TIIE EXAMPLES FOR 1855.

Let 29=a, 10 and 10-41 ths=J ; then the sides rcquired=J {irlr|/(a-+/yO± f'l'

|ja2—^i^^=^6/(«.2+i2) 1^21 or 20. Ans.

— a;=4.01G098; 7/=2.82571G. Ans.

—Let 10=0!, then tlie diameter=l-5th a /(50-f 10|/5)=::17.013. Ans.

—Let 17=2(7, then 8^=a; and diameter of circlc=3.28070=Z». Then Aa.c-—h.c^=\ah\
in which the base=a;=4.27<il2. The other sides=8.19412 each, and the angles=
30°32^ and 74°44^ and 74°44^ Ans.

Noie.—We think the question will allow of several answers.

—Let 20=a, 97=6, then the legs will=a-f .]6i or =f iv/(i'—4ai—4«^)--=72 or 05. Ans.

—Let 4|/3=a, then the side of the required inscribed triangle=;l fl|/3=0, and of the
circumscribed=ay'3=:12. Ans.

—Let 137==a, 111=6, 124=e, then tho radius rcquircd=J/ I ((i+c—«) («—J-Lc)

(a-j-A_c))-f-(a+6+c)}=35. Ans.

—Let 8=«, G=:6, 7=^c, a;:=radius required ; then x^-f-x^f __ _j_ ^ ^. _ j = J
ohc, from

which we find x=3.443963. The sides arc 11.01, 12.13044, and 13.31718. Ans.

Note.—Will some one favor us with full formulaa for this problem ?

—Let 29=«, 6=|/29 (2/2—3), and a:=one of the lines, and 7/=the other, then r=^ b

±V {
(«^-6'0-^(^+i/^)4-ii2} and y=i/ { («^_6'-!)-4-(2Vv/2)+ .16'^

} -I b.

Now put m^=x, and n=i/, then radius of q\vg\g==-^ {m'^—{a'^^m^—7i'')-~Aa:-'^==('),

from whence the sides are easily determined. They are 21 and 20. Ans.
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